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Your Question Paper Code is MR

gmd : 45 firgz _ qurfer : 50
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INSTRUCTIONS TO CANDIDATES
( Pritgran g et avaTe W vgET AN )
(TO BE READ ALOUD BY INVIGILATOR)
1, HiER & slgr A, sy di ale, . dew fhﬁ‘}mmmmmﬁmmwzﬂq{m)wmﬁmvﬁéaﬁm

w1 @ fog wa it @ 7 T WA T |
Use Ball Point Pen (Black) only to fili Name, Regn. No,, QP Gode and signature by candidate In the relevant boxes, Use black ball

pmmpenicdarkenthe circle.

2. m&?mwﬁmﬁmmﬁré’awmfa&mmmﬁam%mm(aﬂmmﬂmaﬁmaﬁ%umw
L L4 L] 1
wm?ymu particulars only on the Answer Sheel. Ovenwriting of personal particulars is not permitted, Do not write anything on the
Question Paper.

sy ma R Eetaifs s ymt i viiwmd @ am €
'ms Question PaperhasTWO sections, each comprising 25 questlons. Answer ALL questions.

) xﬁ va‘ﬁmaxmmacmn;aﬁw&tﬁmﬁzhﬁa&ﬂimmﬂrﬁﬁaﬁmﬁnm
ml}mxﬁﬁ T Y AT T
Choose the most appropriate answer and darken the circle (A, B, C or D) with black ball point pen In the Answer Sheet provided.
Do nol darken more than one circle for one guestion.

5. TR W gt o N wen Wt whn T @ i fven sl w e ¥
Ensure DARK and complete marking of clrcle so that the lefler/number inside the dmie Is not vislble,

6. fE T &t fierr g Qe wNT A € oW uﬁwﬁmﬁt{éﬁm
Since erasing and change of answer are no! possible, be cautious before darkening me comrect answer.

7. wean w1 dhae Iw-qRaE & 90 WRa e
Rough work fo’be done only on reverse side of the Answer Sheet using pencil.

8, WOYT WA 1 WY WPA-UH F IAC-YRAET @eT € )
Return the Question Paper and the Answer Sheet at the end of the examination.
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e F - R W @ v
SECTION ‘A’ - SCIENCE & ARITHMETIC
e SR '{_{ﬁl‘({ /Choose the correct answer :-

1. 10 3eeh U AR T 8 T 3 71 Hardl § 3T 1T HI 3T oot A G FIA & forw fopaet

AT TAGT T 3TaeTHAT 872
10 men can make a wall in 8days. How many men required to complete the same work in
half day?

(A) 80 (B) 100 (C) 120 (D) 160

2. we BeR 20% 31X 5% e TN 25000% Hr &g aefl Teh aed I WIS & I 3D FIFAT T

2000% T AT & 3R 38 25000% T = 2T §] 3T 187 3R greiT &1 gfdra #1872

A dealer buys an article marked at Rs. 25000 with 20% and 5% off. He spends Rs 2000 on
its repair and sells it for Rs 25000. What is his gain or loss percent?
(A)  21% loss (B) 10.5%loss (C) 19.5%gain (D) 25% gain

3. e gl & 9 1000 f.2T. W, TS T6 9T dg 8% 1 W &7 & § IR T gu A

18% W8T UX aE el THTRT 14% TS ITC el & 18% 187 9X fai<hr g% AT £7
A merchant has 1000kg of sugar, part of which he sells at 8% profit and the rest at 18%

profit. He gains 14% on the whole. The quantity sold at 18% profit is:
(A) 500kg (B) 600kg (C) 400kg (D) 640kg

4. 28 24,37, 42,56,59, 67,28, 15, 32 ST ATET AT

Find the mean of: 28, 24, 37, 42, 56, 59, 67, 28, 15, 32
(A) 235 (B) 388 (C) 423 (D) 71.2

5. FHIROTK-8x+15=0FHAL
The roots of the equation x*-8x+15 = 0 are
A 23 B) 35 (C) 8,15 (D) 6,5

6. Wmﬁaﬁﬁamﬁmwagmm?ﬁwﬁrwmﬁm ol af& Frsget 18V5sq Ie
%ﬁﬁmﬁmm#

The ratio of length of each equal side and the third side of an isosceles triangle is 3:4. If the
area of the triangle is 18vV5sq units, the third side is:

(A) 8Y2units  (B) 12 units (C) 16 units (D) 5v10 units
7. eﬁa@@fa’m’rmﬁ.Wz4ﬁﬁ.ﬁﬁ$wa@%mﬁ%;ﬁs¢rm@rsﬁdﬁaﬁ
A & foT foRaer efie @nfgu?

Shantanu’s cap is in the form of a right circular cone of base radius 7cm and height 24cm.

Find the area of the sheet required to make 5 such caps.
(A) 5000sgcm (B) 2750sgcm (C) 3000sqgcm (D) 2700sqcm

8. cos’x+sec’ F FIAH HI &

The minimum value of cos®x+sec? is:
A) O B) 1 (C) 2 (D) 3
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10.

1.

12.

13.

14.

15.

16.

17.

18.

VIR
2 TS 31T 4 91 BT AT 16000 TUT & Sfafes 1 @reY 3R 6 9 I e FHIA §1 12 e H

CICGEE
The cost of 2 sarees and 4 shirts is Rs 16000 while 1 saree and 6 shirts cost the same. The
cost of 12 shirts is:

(A) Rs.12000 (B) Rs. 24000 (C) Rs. 48000 (D) None of these

K T ag F7eT forads farw kx+3y-k+3=0 31X 12x+ky=k, & 3oid g &
The value of k for which kx+3y-k+3=0 and 12x+ky=k, have infinite solutions, is:

(A) O (B) -6 (C) 6 (D) 1
AT fe¥ehret
Evaluate (2x+5) (2x-y) (4X*+y?)

(A) 16" +2y° (B) 16x*—y*

(C) 20x*+y* (D) 16x"—4y*
afE a? + b? =234 3N ab =108 ¥, 2. & A A H
If a + b? =234 and ab = 108, find the value of 2.

(A) 10 (B) 8 (C) 5 (D) 4
AT F
Solve : 2567 + 17 x3 =7 + 180

(A) 51 (B) 73 (C) 271 (D) 272
PrAfarld & & 5 R A9 a9 F 92T 781 T 51 FheT

(@ RBea (@) wfead @m fes @@ ST
Which of the following can't be used to make a solar cell?

(A) Silicon (B) Platinum (C) Gallium (D) Germanium
ey ol yaorar 3R TS IR Ll 8-
() T AR & FEAAT T (@) tafe aier & A™hH W)
(@M  FFaeAeiTer g & &TAhT W (@ 9w @
Loudness or intensity of sound depends upon —

(A) Application of metal wire (B) Amplitude of sound wave

(C) Area of vibrating body (D) All the above
dege I T SI A HGIN
(®) dlee (V) (@) TFIE (A) (1) Fed (&) SFT (T)
The Sl unit of electric charge is
(A) Volts (V) (B) Ampere (A) (C) Coulomb(C) (D) Tesla (T)
SpeFeIE Y GAATeT 3 TGt & ToTT ST T STt Tl UorsTIgH

(&) SEAE @) Iawed () sEed (&) P
The enzyme used in the conversion of fructose into ethanol is:

(A) Zymase (B) Invertase (C) Diastase (D) Fructose
ST Y AT HT AT il g ?
Which of the following is a measure of velocity?
(A) 30s (B) 30 South (C) 30m/s (D) 30 m/s, South

4
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19.

20.

21.

22.

23.

24.

25,

MR
AAH Sciel, S 6T T §S &, P ol § ferarar e &1 e e &1 v gqorredy Hrew
ST, AT &ThT ST ATHTA
(F) dlsTdgen (@) =AM (3N) UG SATQIM (F) g Aol Hehd

A thermos bottle containing coffee is vigorously shaken. If the coffee is considered as a
system, then the temperature of coffee will:

(A) Increase (B) Decrease (C) Remain (D) Can'tsay
slightly same
TEAT G & AR I TREAAT el § Fifn Gl AGH R GhifSad aaf srerclt § | 7 gy
TGHT T PIS PR ALl B
() =TT @) &, ®shawelt (@) gl AR (&) e AL Fehcl
The moon revolves around the Earth because the earth exerts a radial force on the moon.
Does Earth perform work on the Moon?

(A) No (B) Yes, (C) Yes, (D) Can't say
sometimes always

gl & TFcaTehyOT &l o fAuie & & <o arell Teh a¥ T F FAT &

(F) aRagafa @ RERIT (@) ged @) Afgaaia

CICIENG]

An object moving in (upward) direction opposite to the gravitational force of earth performs:
(A) Accelerated motion (B) Motion with constant velocity
(C) Oscillations (D) Retarded motion
s & o) W = G B

(@) qEE Fen (@) #Fd T H TR g

(M) 3T (&) a7 FFd Tl
The weight of the body would not be zero at:

(A) Earth’s (B) During free (C) Space (D) Frictionless surface

Centre fall

ST 10" gelergie ol Ueh 3SR U1 Tole & §eT fdm ST, |l 38 W e d 199 g1 (Fefid):

When 10"electrons are removed from a neutral metal plate, the electric charge on it is

(coulomb):
(A) 10" (B) +1.6 (C) -16 (D) 10(g4/q2)
TS FAEAR ¢
(F) g arT (@) selieh gier
(@  TW&I ORI (=) Y39 RAfeRoT &1 AfFaemel dia
A quasar is:
(A) Neutron star (B) Black hole
(C) White dwarf (D) Powerful source of radio radiations
IRA T I, 3T T 39 97 S &1 59 9fshar #1 Fgd &
&) Fea9gdsT (@) arsdieor (M) faEor () HUST

On heating, solid is directly converted into gaseous state. This process is called: i
(A) Sublimation (B) Evaporation (C) Diffusion (D) Condensation |
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SECTION ‘B’ - GENERAL AWARENESS
el I gi?lq /Choose the correct answer :-
1. GO IgFaarg?
(F) UF (@) HITA @M g (@) ggeia
Which is the biggest planet?
(A) Venus (B) Mars (C) Mercury (D) Jupiter
2. FEIC FA A foreT ot ardr A2
(®) %% (@) fasog @ (@) P
Who was mainly worshipped in the Rig Veda period?
(A) Indra (B) Vishnu (C) Sun (D) Trimurti
3. Ul o HewaH Vel T, i 781 AaTedl & 3eaRig 7 8, fReg aar &l
gHaUT g1
) favor @) fe (3T Jrarer @) FT
The greatest monument at Ellora, dating from the late 7" centuary, honours the Hindu God:
(A) Vishnu (B) Shiva (C) Ganesh (D) Krishna

4. R IS I T IS et § I H gHT AT?

In which year was the Indian National Congress formed?

(A) 1835 (B) 1885 (C) 1901 (D) 1875
5. Ui UTA AR 4 &I B &
(F) FHIGAETR (@) HIg-dewTs
(@) ARTR-EERTTE (|) ST
National Highway No. 4 connects:
(A)  Mumbai-Nagpur (B) Mumbai-Chennai
(C) Nagpur-Hyderabad (D) Bangalore-Mysore
6. oRd $ vuH fega afeid ¢oT (SFhet Fdl) &F o Tordr 2T
(F) HIS- FIA @) gas-Red
(1) ShedToT- qOT @) aS-Red-deTs
The first electric train of India (Deccan Queen) was run between:
(A) Mumbai- (B) Howrah- (C) Kalyan- (D) New Delhi-
Surat Delhi Pune Chennai

7. Afdeer 3hIeHT & HEATd Fgl 672

(@) Ao @ dTEEE @ gor (&)  Selhedl

The headquarters of Lalit Kala Academy are at:

(A) NewDelhi (B) Chandigarh (C) Pune (D) Kolkata
6
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10.

11.

12.

13.

14.

15.

16.

ﬁmﬁﬁﬁﬁﬁaﬁﬂmﬁqﬁwqmmﬁ%?
(®) gs°Ir (@) HIfEam GG

Which of the following Indus Valley sites is in Pakistan?
(A) Harappa (B) Kalibagan (C) Lothal

» Download Testbook App

mmﬁmﬁmgwwwm@

(&) sfawar (@) goAsleds (@) O T AT

The violent uprising of Palestinians against the Israeli occupation is called:

(A) Intifada (B) Hezbollah (C) PLO

T U8 ®ge ' SATHH TEh [t Tordl?

VK
(&) 3TAARR
(D) Alamghir
(') gAY
(D) Hamas
ST W IS e

(®) ST (@) SWEATE () Fieddl TMaTH ()

Who wrote the book titled ‘Runs and Ruins’?
(A) Kapil Dev (B) ImranKhan (C) Sunil

Gavaskar
£ 3l @ FPE A B

(@ = (@) gqfeT @M SHfeaga
Lack of causes diabetes.

(A) Sugar (B) Insulin (C) Calcium
o5 3T [AsATEs T & 71 | 9ilg U Bl

CONETINIC (@ EdE @m ard
The country known as the ‘Land of the midnight sun’.

(A) Japan (B) Sweden (C) Norway
3fra A9 Hr @i & w9 qefa B

(® FNITCAl (@) A@ITEHI (M)  Fafser

The discovery of inert gases is associated with:
(A) JBPriestly (B) Lavosier (C) Cavendish

wﬁ@sﬁﬁwmmﬁ_ﬁwm%l

&) FwA (@) gIEe @M ae
The heater element in an electric iron is made of:
(A) Nichrome (B) Tungsten (C) Copper

HTOTY T ISTETAT 47 82

F) e (@  SFPA @m ew
Capital of Manipur is:

(A) Shillong (B) Imphal (C) Gangtok
3i5A 3R APER gfaq ST Tererm #4187

() Faars (@) SeEE (@) G s

The capital of Andaman and Nicobar Islands is:
(A) Havlock (B) Jollyboy (C) Port blair

(D)

(%)

(D)

(D)

()

(D)

(=)

(D)

(&)
(D)

(&)

(D)

[ECIEER:)

Vitamins

3THAT

Denmark

THE

Ramsay

Iron

wifgar

Kohima

Ross

None of these
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17.

18.

19.

20.

2.

22.

23.

24.

25.

MR

FAO & T arcad §7?

(F) S US Wiidhedl HREfATSST2rT (@) TheH U wa mefargaer=

(@) e, Witk U3 A (a)  %hed, Tl US NG
FAQO stands for:

(A)  Food and Agriculture (B) Fruits and Agro Organisation

Organisation
(C)  Fruit, Agriculture and Ocean (D) Fruits, Agro and Ocean

dataier Arf  Rerafaf@a F @ g &3 & 39e vgge 9a8?

() difeET (@ Gt (@) ABEveRafEr @) g
In which of the following fields did Tenzing Norgay distinguish himself?

(A) Boxing (B) Cycling (C) Mountaineering (D) Hockey
Arafafed # @ f5d vgw & a1 ¥ ST Sirar §72

(F) FeIfoe @ offaa @M feeR @ fees

Who among the following is known as ‘Fuehrer'?
(A) Stalin (B) Lenin (C) Hitler (D) Bismarck

HI T TIH F37 3N AT HARTER g Toa/He 8T 7 §7
(@) 3JYTT (@) FeRTGT (1) uREHGmE (@) 7% oo

The largest and the oldest museum of India is located in the state/union territory of:

(A) Andhra (B) Uttar (C) West (D) New Delni
Pradesh Pradesh Bengal
T a1 ATENT HAEThIeT Fi AT E?

(F) SEEINEr (@) THIOT @M Maafass (@) HAZHRT

The lengthiest classical epic is:

(A) Bhagwat (B) Ramayan (C) Gita (D) Mahabharat
Gita Govinda

s & fope O 3ff v wafeera @

() drelr (@) R @ I (@) usels
The term ‘Derby’ is related to which of the following:

(A) Polo (B) Swimming (C) Racing (D) Horse riding
frar A8 fFa @ A Hafeua & 2

() S=FeaTT (@) AT (3T) T () g
With which game is Geet Sethi associated?

(A) Basketball (B) Chess (C) Snooker (D) Tennis
YA A YUH AR et & [Segia 3T 31iE Areex 3T erfder $r

() AT (@) AT @M Reaara @ v

3TIRT ERIC] HTelg,

Who is the first Indian to win the “International Grand Master” title in Chess?
(A) Anupama (B) Bhagyashree (C) Vishwanathan (D) DV Prasad

Abhayankar Tripathy Anand
TTelT ST Wl leT H HRAT T4 H 35T g3
(&) HAOTR (@) TS (M) TR (=) 9fRas gemer
In which Indian State did the game of Polo originate in?
(A) Manipu'r (B) Rajasthan (C) Guijarat (D) West Bengal
8

» Download Testbook App

Page - 13



A testbook.com » Download Testbook App

Page - 14




	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page




